
Say goodbye to knitter’s block

SIZE

One size to fit average woman’s head.

GAUGE

18 sts and 24 rows = 4" [10 cm] in  

stocking st.

INSTRUCTIONS

Cast on 114 sts.

1st row: (RS). K2. *P2. K2. Rep from * to 

end of row.

2nd row: P2. *K2. P2. Rep from * to end 

of row.

3rd row: K1. *C2L. C2R. Rep from * to last 

st. K1.

4th row: P1. K1. *P2. K2. Rep from * to last 

4 sts. P2. K1. P1.

5th row: K1. P1. *C2F. P2. Rep from * to 

last 4 sts. C2F. P1. K1.

6th row: As 4th row.

7th row: K1. *C2R. C2L. Rep from * to last 

st. K1.

8th row: As 2nd row.

Rep these 8 rows once more. 

Next row: (Fold ridge). Purl. 

Proceed as follows, reversing rows from 

RS to WS as follows: 

1st row: (RS). K2. *P2. K2. Rep from * to 

end of row.

2nd row: P2. *K2. P2. Rep from * to end 

of row.

3rd and 4th rows: As 1st and 2nd rows 

once more.

5th row: K1. *C2L. C2R. Rep from * to last 

st. K1.

6th row: P1. K1. *P2. K2. Rep from * to last 

4 sts. P2. K1. P1.

7th row: K1. P1. *C2F. P2. Rep from * to 

last 4 sts. C2F. P1. K1.

8th row: As 6th row.

9th row: K1. *C2R. C2L. Rep from * to last 

st. K1.

10th row: As 2nd row.

11th and 12th rows: As 1st and 2nd rows.

These 12 rows form pat.

Cont in pat until work from fold ridge 

measures approx 5½" [14 cm], ending 

with 10th row of pat. 

Shape top: 1st row: (RS). K2. P2. K2. 

*P2tog. K2. (P2. K2) twice. Rep from * to 

end of row. 105 sts. 

2nd and alt rows: Knit all knit sts and 

purl all purl sts as they appear.  
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MATERIALS

Patons® Classic Wool WorstedTM (3.5 oz/100 g; 210 yds/192 m)
Cognac Heather (77532)	 2 balls

Size U.S. 8 (5 mm) knitting needles or size needed to obtain gauge. 

Alt = Alternate(ing)
Approx = Approximately
C2F = Knit into front loop 
of 2nd stitch on left-hand 
needle, then knit 1st stitch, 
slipping both stitches off 
needle together
C2L = Purl through back 
loop of 2nd stitch on left-
hand needle (behind first 
stitch), then knit first stitch, 

slipping both stitches off 
needle together
C2R = Knit into front 
loop of 2nd stitch on 
left-hand needle, then 
purl first stitch, slipping 
both stitches off needle 
together
Cont = Continue(ity)
K = Knit

K2tog = Knit next 2 
stitches together
P = Purl
P2tog = Purl next 2 
stitches together
Pat = Pattern
Rem = Remaining
Rep = Repeat
RS = Right side
St(s) = Stitch(es)
WS = Wrong side

ABBREVIATIONS: www.yarnspirations.com/abbreviations

INTERMEDIATE
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3rd row: K2. P2. K2. *P1. K2. P2tog. K2. P2. 

K2. Rep from * to end of row. 96 sts.

5th row: K2. P2tog. K2. *(P1. K2) twice. 

P2tog. K2. Rep from * to end of row. 86 sts.

7th row: K2. P1. K2. *P1. K2tog. (P1. K2) 

twice. Rep from * to end of row. 77 sts. 

9th row: K2. P1. K2tog. *P1. K1. P1. K2tog. 

P1. K2. Rep from * to end of row. 67 sts. 

11th row: K2tog. P1. K1. *(P1. K1) twice. 

P1. K2tog. Rep from * to end of row. 57 sts. 

13th row: K1. *K2tog. Rep from * to end 

of row. 29 sts. 

Break yarn, leaving a long end. Draw 

end through rem sts. Pull tightly. Fasten 

securely. Sew center back seam, reversing 

seam for cuff turnback.

Pompom: Wind yarn around 4 fingers 60 

times. Tie tightly in the middle and leave 

a long end for attaching to top of Hat. 

Cut loops at both ends and trim to form 

pompom. Sew to top of Hat.
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